EARAZROREIERT — 2 N—XBISY —F 2014F7811H (£) 6EAXFH6H

mfﬁr’q‘}ii—*ﬂ'ﬂ C2= 5% \ (%] \ (EsmEl  — | 4 (%) 16000 &
[A%2] 1 %:1,700,000 @ ~ 2 7 510,000 @ ~ 3 7 :340,000 @ ~ 4 7 :204,000 @ ~ 5 7 : 136,000 F
ARG BERE 0 %E | BT (FE) |51 L BE) | ARG | L | SB | An | E | BEE (7R / Bt/ SEAE
. . 1535 41, -1 |388| — )
(sl g| PLEHL KO- oo | B8 11415 1-1-1-1 | 38.8 3 :1_739) e
L:2F¥v> B:FvERILIIL— R AZ

c . HEAH 142. ~9-5~ . = BAREZ (KH)
EH3 St INLY R # 4 | 2B 12 11-9-5-3 | 39.2 4 (4+611) e

LA LINT Ry TR BV v UNANEXRZR e
A 4 | HATHER 1:42.4 5-5-2-2 | 39.6 | — 2 496 | KT LEEEE (KH)
31711 AF¥IVT YT g 56.0 ) (+1) EHIE;
LY RYIYZXIX B:OYCAED— EEZX42 v K
N )18 : —8-6- — BEER (KH)
4 77V b "o 1'(453)'4 oo |40 ’ <4+711) "8 H— ke
AL hFr—Ib B:wxTLNTHEAR Gl e
. S St 143 -2-4- . - 1ESRIGHD (Z\#K)
5 Ea VAN N 5 = (11 413/27) 4-2-4-3 | 40.5 1 (4_732) E%%E“ e
LTy BXT4 997748 B:vA4YRE2—by T 79757714
e s HARRER :43. -12-10- . — JEFEH (/)\HE)
6 P D o4 S 1(14/32)8 12-12-10-10{ 39.9 10 (4_815) iz ’
Ly IHFTLeTe BRRETELTUR RTHITF—L
. g HEKRE : -10-8- - RAHBEE (M)
2 LAY KB I it 5 ek 1(/:337,3 9-10-8-7 | 40.0 11 (4_438) s
KA Lk—L Bl R —Hyia TEREKS
i = o8 | BHAR 1:43.9 12-14-9-8 | 40.3| — 7 500 | FEABIE ()
8 J-—d—% X4 56.0 (1/2) +3) TREENIE
LixvaNay— B3 RK—3 KIEHIS
—ias N fHaAElse : —6-7- - ZIRERME (A
9 FURNEA T w7 | E Bl A A E -
L:T7IRAFTaN BhivvedO-—L (B) HBEa-KL—-—ra>aEI77
. 44 | R 1:45.0 10-11-12-12| 41.2 | — 9 450 |HAR (KH#)
10 S %6.0 21/2) @) | @R Tr—2bETar
R:A—V XA 44 BTy 4RV KIF S
: . 4 8 | PIEFIHE 1:45.1 3-4-10-11 | 41.5| — 14 | 516 |/MB—BB ()
111813 RU—L¥>E—-Jb 56.0 (1/2) (-5) | BASHES
L4/ XLLy b B:RE2—FZ L (1T
< . . AHIES : 03— — FEE ()
" PIEE BT, #H 5 EE 1.(415).3 2-2-3-3 | 42.5 5 (4_931) iﬂgm?ﬁ% A
LT RIAY T pN> BILERU—2F5 LIHIT7— L
- B4 | EEREK 1:46.0 12-13-13-13| 42.0 | — 13 | 427 |EEEE (KH)
1311 | 7=Y—-h%xTIT 54.0 3172 vy | ) miEts
:7¥4F3 0K B:IbL—X e ]
. s . REEF— 147. ~7-14- . — TSR (KFH)
15| 7| FMAST R N R “lo |me
R:bh—tH2ZX B:ILXYE—> AIE R
® 1—F—@EBIERL
12—7+— |8,12,13,6,11,7,5,9,4,10,3,(1,2,14)
23— — 8,(6,12),13,11,5,7,9,3,4,10,14,1,2
Ja=5= 8,11,12,6,3,9,5,4,2,(13,14) ,10,1,7
43—+ — 8,11,(3,6,12),9,4,(2,5),14,13,10,1,7
[ /N
B 8 520M 714K 3-8 520M e E 3-5 1,500 JEE 3-8-11 1,970
B B 8 180H4 8-11 470M e B ) 2,710 EH 8-3-11 10,1504
3 200H 3-11 480M B & 3-8 1,520
1 1809 B H 8-3 2,900/

ABICOVWTRDTEEERROODE. TR LIV,




